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1. The electric charge Q is uniformly distributed on the wire that is 2a in

length. What is the electric field £ at (x, 0)?.
Y

0, a)

(0: 'a)

2. Find the capacitance of the following metal planes Here, the width

of each plane is assumed to be W.
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3. A current ] is excited on the loop x’ +y® =a’ and a point charge Q

is located at (0,0,0). Then, another point charge q is moving in the

velocity V' =V,4a_ at (0,0,z). What is the force on this charge q?
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4. Find the input impedance Z_ of the transmission line.
l
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5. Prove that the uniform plane wave E(R)= E, e~/HiR propagated

along a, direction is a TEM wave,




